
 

Homework 5 Solution

l 1312177

AB 75 發炎了

BA ⼆
店 只屷

AB BA if and only if 2⼗2k ⼆10 Hence AB BA
holds only when 140

2 3.2.19

let ml別 叫 到了 啦 到

Then

AB ⻔ ⼆ AC

3 13.2.21

let A ⼆ B 了 Then

AB 11 1 了



4 13.2.25

a Det AlDetBI ad bcllehfglzadehadfg

bcehtbcfgDD.tl
ABI detkg 岱剁

aetbgllcftdh aftbhllcetdg

⼆ aecftaedhtbgcftbgdh

af afdg bhce bf

aedhl.bg cf_afdgbke

c They are equal i.e Det AB DetMDetM



51

a you can take u⼆ x 1 r y

Then

zxy_zyzuvlim⼀⼀

1州 ⼼ lx IPtpifi.nu 4 v2

Pick path Ci t 01 t 0 Then the limit is

2 t.lalim ⼀ ⼆ 0
to on t 2 0

Pick path 2 t.tl to Then the limit is

z 4141lim
n.ltti lo olt2 t2

⼆ 2

Since the function approach to two different values the limit does

not exist



b
Note that

I 尼器 炭火 lzyl

三 lzyl as 若4 上1

Hence zyx 4
21Yl E E 21Y1

x4 y4

Since both 2HI and 21Yl approach to 0 as 1州 6，01

zyx4lim
cx.mg x4 y 0 by squeeze īhm

c Pick Ci t 0 t 0 Then the limit is

2 tocosltilim 0
1to 北⼼ t 2 0

Pick cz t.tl t 0 Then the limit is

2 tt cost4
lim nreltyton t8 t t 8

⼆ fy cost 1

Hence the limit does not exist



6
Northeast means that the direction vector ū ⾔⾔

The path is given by THI It Èt It Èt flztfzt It訓

Hence i 作 卡 ⾔ 各 if
By dd 省 if 12，1

⼆ 是L flzt Èt It t.tl

f f It吉叭HÈH tlztf 哈tp

⼆ 2 lztǘt J fz.CHÈt t ztǘti⾔

⾔ Hǘt
3
tlztitl 3 lltf.tl Hto

Ět 告 t ⾔ ⼗点 ⼆ 是 ⼆ǖrzo
A parallel vector to the tangent line is

F ⼼ Ē 是 Erz



A simpler parallel vector to the same line is

LI 1，157

Hence parametric egs of the line is

X 2 tt Y It t Z 61 15t

7

fi 1 2X I 㖄 ⺣
⼆ 2

fll 11
⼆ 4Yllyl ⼆ 4

Hence the tangent plane is Z 3 2 xt It 4 ly 1


